Algebra 2/Trig: Assignment#:______ Name K{)M .
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11.1-11.3: Sequences and Series Review © Date Period
Find the first four terms in each sequence.

1) a =8+4n 2)a=—-T+3n _
3) a =-7+30n 4) a =—50+20n
43, 53, %3, N3
) 77)
Writethe ~ ° formula for each sequence. =
5246810 . 6)4,7,12,19, 28,..
35 79 11’7
7 4, 16, 36, 64, 100, ... 8) 2, 5, 10, 17, 26, ...
For each sequence, state if it is arithmetic, geometric, or neither.
9) 10.1, 10.7, 11.3, 11.9, 125, ... : 10) —34, -4, 26, 56, 86, ...
11) 4, 16, 36, 64, 100, ... 12) -4, —-12, -36, —108, —324, ...
13) -3, -9, -27, —81, —243, .., 14) 1, 9, 25, 49, 81,...
Rewrite each series using sigma notation.@'um)
: 5. . 5
15)1+2+3-(|;4+ +6 16)1+l+l+l+l ‘/
2 K 2 3 4 5 Z o~
K=1 m=

17) 4+8+12+16 T2 S 3 e N 5

_ 18) =+ —+—+ —+ —
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Whot are FRest 5 terms

0D d@a)
mEued D AN e 19,16,1L,4,8
| 334U sy T
S0, 2gh 3(',1) 1) 6’@) |
21) m;(m+200) - 22) 5;3”‘ 3,6)q) ‘a”s—-

401 ,a04,803,204, A0S

Determine if the sequence is arithmetic. If it
_ explicit formula. it s, find the °°mm°“ L L T T

23) 3, -6, 12, 24, ... Vs, i '_24) -22, -26, ~30, =34, ... d-=-Y

NO : , |
. Qso= -2a+(52-1)(H) Gen = -2
-024 (S1X-Y) B :
—_—— ..aa *g', ,.aoq . . aﬂ . Q‘ +(n~l)ki-
= ~98) = -33 + Q-

Given the first term and the comm drl’f
explicit formula. on difference of an arithmetic sequence find the 52nd term and the

as) a =-12, d=-9 ) a,=-36, d=7

B = (n- W=e on= ~3b H{n-D(T)
~ aga= 1@ F(51D0-2) ags= -3+ ST
' T -4%4 e o= 73‘?_“‘ 357

e i e ‘:-—"‘FEFJ @

Determine if the sequence is geometric. Ifitis, find the common ratio, the 8th term, and the:

formula.
a1) 10, 12, 15, 19, .. 3X) 2, 12, 72, 432, ... r= -6
ND S"‘i i ’g ) 'én’/
ag = -8+ b On =
-a P __b"' e
- 659973
Given the first term and the common ratio of a geometric sequence find the 8th term and the-
formula. L
n -
4T = — = — S""l - o) " _6-
acf)al 1, r=-5 Q?= - ,,..5 an= G



Given a term in a geometric sequence and the common ratio find the 8th term and.

30 a,=-1, r=-3 3V a,=-27, r=3 49
an™= “-ZB) : On = \ 3n
- ~] (3 ;

. O g= —'l~3 y

! &am a8 ]

Given two terms in a geometric sequence find the common ratio, the 8th term, and the

38 a,=-12500 and a =-2500 B = S SRy
~]QSOD = oy * F ‘ og= ~3las
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